BK S:t Erik
Trettondagssilver 2010-01-06

Partavling, 37 bord, 74 par. Antal brickor: 42. Medel: 1512.2.

Plac Par Poéng % Namn

1 73 1932.0 63.89 Olle Wademark - Tommy Strindfors

2 5 1892.6 62.58 Margaretha Norback - Tora Philip

3 29 1866.1 61.71 Bengt-Erik Efraimsson - Anna Zack-Einarsson
4 44 1854.0 61.31 Simon Bech - Fredrik Alfredsson

5 50 1823.6 60.30 Bo Ryding - Albert Feldman

6 55 1807.9 59.78 Erik Bergengren - Pontus Silow

7 49 1793.8 59.32 Peter Svensson - Ulf Lundgren

8 25 1787.3 59.10 Max Odlund - Britt-Marie Odlund

9 2 1786.6 59.08 Bjorn Wenneberg - Mart Altméae

10 3 1783.7 58.98 Ric Sallsten - Inger Sallsten

11 6 1773.9 58.66 Ola Stavas - Borje Rudenstal

12 35 1757.9 58.13 Lennart Karlberg - Jan-Olof Hegethorn
13 54 1694.1 56.02 Anders Morath - Peter Backlund

14 67 1681.4 55.60 Hans Nerell - Peter Flodqvist

15 34 1680.6 55.57 PG Eliasson - Staffan Schmidt

16 53 1676.2 55.43 Fredrik Nystrom - Ola Lernd

17 52 1671.2 55.26 Lars-Erik Rudstrom - Lars Manneteg
18 36 1670.6 55.25 Paul lwarson - Frederic Wrang

19 62 1665.4 55.07 Sven-Owe Andersson - Hans Vestergren
20 7 1661.2 54.93 Kristin Nedlich - Bengt Pettersson

21 71 1660.4 54.91 Marten Gustawsson - Jessica Larsson
22 14 1660.2 54.90 Lennart Wiklander - Inga Wasteby

23 72 1659.9 54.89 Kjell-O Persson - Bengt Wéarn

24 58 16529 54.66 Hans Otterstrom - Lars Norback

25 70 1651.8 54.62 Ragnar Unge - Johan Linander

26 15 1650.6 54.58 Mans Berg - Thomas Wrang

27 28 1614.0 53.37 Jan Andersson - Conny Wahlgren

28 24 1597.4 52.82 Stefan Josefsson - Ylva Strandberg
29 41 15948 52.74 Gunila Langius - Elena Stréom

30 65 1570.4 51.93 Peder Olrog - Harry Nisell

31 19 1566.9 51.82 Tommy Eneqyvist - Peter Tornblom

32 38 1560.1 51.59 Imran Chawala - Abdul Khaligq

33 47 15539 51.39 Patric Holmberg - Stefan Fohlheim

34 21 1551.2 51.30 Micke Almgren - Lennart Eriksson

35 43 1539.1 50.89 Jonas Hagg - Johan Karlsson

36 63 1521.9 50.33 Gunnar Stockhaus - Lennart Andersson
37 22 1484.1 49.08 Johan Upmark - Susanne Fridell

38 16 1482.4 49.02 Ake Falkunge - Yvonne Flodqvist

39 66 1475.1 48.78 Per-Martin Sandgren - Lars Frisell

40 9 1473.1 48.71 Peder Hagg - Leif Hansson

41 42 1472.6 48.70 Ulf Lindeldw - Goran Lindén

42 74 1470.8 48.64 Per Grivenfeldt - Tommy Storm

43 31 1467.2 48.52 Catarina Widgren - Borje Johansson
44 27 14614 48.33 Sten Ternblad - Thomas Bjorkstrand
45 18 1459.6 48.27 Lars-Ake Wikstrém - Kent Ekevid

46 57 1452.0 48.02 Torbjorn Herngren - Jakob Sondén
47 69 1446.4 47.83 Eva Uddling - Roland Rosenqyvist

48 39 14456 47.80 Lillemor Strindberg - Nilla Sundberg
49 30 1436.6 47.51 Anna Martensson - Peter Martensson
50 23 1408.4 46.58 Christina Torsslow - Jan Alpe

51 32 1406.6 46.51 Per Clarin - Torbjorn Gustavsson

52 37 1402.6 46.38 Conny Loévgren - Henning Tingvall

53 61 1386.4 45.85 Birgitta Nilsson - Mona Bergstrom

54 33 1385.6 45.82 Per Skoglund - Jan Christiernin

55 10 1383.4 45.75 Mariana Nelson - Torbjorn Fjellstrom
56 68 1378.4 45.58 Carl-Axel Staél von Holstein - Lars-Gunnar Bystréom
57 60 1377.3 45.54 Karl Keresztes - Birgitta Ellner

58 1 1365.6 45.16 Kenneth Raun - Per Hult

59 45 1359.3 44.95 Rikard Olofsson - Hannu Oikarainen
60 11 1349.8 44.64 Marcus Akerlund - Gésta Surén

61 64 1339.4 44.29 Benny Holm - Gun Skire

62 20 1316.1 43.52 Lennart Roth - Marie Roth

63 8 1289.9 42.66 Ulla-Britt Olsson - Monica Adamsson
64 59 1288.4 42.61 Gudrun Strandberg - Claes Melin

65 12 1285.6 42.51 Mans Nedlich - Birgitta Ternblad

66 17 12522 41.41 Arne Jansson - Bo Elfverson

67 56 1202.8 39.77 Sven Martensson - Ewa Eriksson

68 48 1198.8 39.64 Kjell Pettersson - Karen Gott

69 40 11956 39.54 Sven Holmberg - Mats Waltré

70 26 1168.4 38.64 Lena Bjon-Aaltonen - Gunilla Ostervall
71 46 1098.1 36.31 MiAndrén - Cecilia von Scheven

72 13 1063.4 35.17 Ingegerd Weinberg - Britt-Marie Hedrén
73 51 1057.4 34.97 Birgitta Svensson - Marie Friedman
74 4 1050.6 34.74 Christina Bjorklund - Elisabeth Bygren
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1 410 2 & Kn102 3 & KKn96
Nord v 10865 Ost v3 Syd v K10
Ingen + 852 NS ¢ EKD7543 ov + D985
#106543 &E9 &EKn3
& Kn94 486 4 E73 4 654 & E72 4105
vyKKn7432 D vKDKn982 v 107 vD9854 vKn763
¢- + EK1097643 ¢+ Kn8 +96 ¢ EKn72 ¢ K4
&#EKKnN2 &87 #108 &#Kn75432 &10 &K7654
& EKD7532 4 KD98 4 D843
vE9 v E654 vE2
¢+ DKn + 102 + 1063
D9 #KD6 D982
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
38 37 3NDO -4 &K 800 720 00|10 65 6¢ N= vT 1370 67.0 5.0(45 30 4v V-2 a9 200 720 0.0
50 25 64D O -2 s A 300 70.0 20|12 63 64 N= vT 1370 67.0 50|13 62 34 S= &T 140 61.0 11.0
18 57 5¢ O-3 s A 150 68.0 4.0|28 47 6¢ N= v5 1370 67.0 50|14 61 24 S+1 &T 140 61.0 11.0
14 61 4v V-2 T 100 63.0 9.0|44 31 66 N= vT 1370 67.0 50|18 57 34 S= &T 140 61.0 11.0
42 33 5¢ O-2 s A 100 63.0 9.0|49 26 64 N= vT 1370 67.0 50|39 36 34 S= &T 140 61.0 11.0
43 32 4v V-2 oT 100 63.0 9.0|50 25 6¢ N= vT 1370 67.0 50|43 32 34 S= v4 140 61.0 11.0
73 2 5¢DO-1 s A 100 63.0 90| 6 69 3NS+3 vK 690 53.0 19.0|49 26 24 N+1 v3 140 61.0 11.0
20 55 34 S-1 &A -50 57.0 15.0|15 60 3NN +3 vK 690 53.0 19.0|58 17 24 N+1 v3 140 61.0 11.0
53 22 34 S-1 &A -50 57.0 15.0|27 48 3NS+3 vK 690 53.0 19.0|66 9 34 S= &T 140 61.0 11.0
4 71 34 S-2 &A -100 46.0 26.0(34 41 3NS+3 vK 690 53.0 19.0|70 5 34 S= &T 140 61.0 11.0
6 69 44 S-2 &A -100 46.0 26.0(38 37 4N S +2 vK 690 53.0 19.0|74 1 34 S= &T 140 61.0 11.0
15 60 44 N-2 &2 -100 46.0 26.0(59 16 3N S+3 vK 690 53.0 19.0| 3 72 44 S-1 v4 -50 45.0 27.0
45 30 44 S-2 &K -100 46.0 26.0(64 11 3NN+3 &3 690 53.0 19.0|12 63 34 S-1 &T -50 45.0 27.0
49 26 44 S-2 &A -100 46.0 26.0(67 8 3NN+3 &2 690 53.0 19.0|27 48 34 N-1 v6 -50 45.0 27.0
51 24 34 S-2 &A -100 46.0 26.0|14 61 3NS+2 vK 660 35.0 37.0|34 41 34 S-1 v4 -50 45.0 27.0
54 21 44 S-2 &A -100 46.0 26.0 (23 52 3N S +2 vK 660 35.0 37.0|64 11 34 S-1 &T -50 45.0 27.0
64 11 46 S-2 &K -100 46.0 26.0 (40 35 3N S +2 vK 660 35.0 37.0|73 2 34 S-1 v2 -50 45.0 27.0
66 9 44 S-2 &A -100 46.0 26.0 (42 33 3NS+2 vK 660 35.0 37.0|28 47 34 N-2 v6 -100 33.0 39.0
372 4¢ O+1 &K -150 30.0 42.0(43 32 3NS+2 vK 660 35.0 37.0|42 33 44 N-2 &T -100 33.0 39.0
10 65 44 S-3 &A -150 30.0 42.0(45 30 3NS+2 vK 660 35.0 37.0|46 29 34 S-2 &T -100 33.0 39.0
27 48 44 S-3 &A -150 30.0 42.0(56 19 3N S +2 vK 660 35.0 37.0|51 24 34 N-2 ¢+ K -100 33.0 39.0
28 47 4¢ O+1 s A -150 30.0 42.0(68 7 3NS+2 vQ 660 35.0 37.0|56 19 24 S-2 &T -100 33.0 39.0
34 41 44 S-3 &A -150 30.0 42.0(73 2 3NS+2 vK 660 35.0 37.0|59 16 34 S-2 &T -100 33.0 39.0
44 31 44 S-3 &A -150 30.0 42.0(74 1 3NS+2 vK 660 350 370| 6 69 3v V= 49 -140 25.0 47.0
46 29 44 S-3 &A -150 30.0 42.0(70 5 3NS+1 vK 630 24.0 48.0|23 52 2v V+1 +5 -140 25.0 47.0
12 63 44DS-2 &A -300 15.0 57.0( 3 72 5¢ S+1 vK 620 14.0 58.0|10 65 34 N-3 &T -150 16.0 56.0
23 52 44D S-2 &A -300 15.0 57.0( 4 71 5¢ N+1 vT 620 14.0 58.0|15 60 34 N-3 &9 -150 16.0 56.0
39 36 44DS-2 &A -300 15.0 57.0(13 62 5¢ N+1 vT 620 14.0 58.0|38 37 34 S-3 vK -150 16.0 56.0
40 35 44D S-2 &A -300 15.0 57.0(18 57 5¢ N+1 v5 620 14.0 58.0|44 31 44 S-3 &T -150 16.0 56.0
58 17 44D S-2 &K -300 15.0 57.0(20 55 5¢ N +1 vT 620 14.0 58.0|54 21 34 S-3 &T -150 16.0 56.0
59 16 44D S-2 &A -300 15.0 57.0(39 36 5¢ N+1 &6 620 14.0 58.0|67 8 44 S-3 &T -150 16.0 56.0
67 8 44DS-2 &A -300 15.0 57.0(46 29 5¢ S+1 vK 620 14.0 58.0|68 7 34 S-3 &T -150 16.0 56.0
68 7 44DS-2 &K -300 15.0 57.0(53 22 5¢ N+1 vT 620 140 58.0| 4 71 3v V+1 +8 -170 7.0 65.0
74 1 5¢ O= s A -400 6.0 66.0 (54 21 5¢ N+1 vT 620 14.0 58.0|53 22 3v V+1 +8 -170 7.0 65.0
56 19 44D S-3 &A -500 3.0 69.0(51 24 3¢ N+3 vT 170 40 68.0({20 55 44 N-4 v6 -200 4.0 68.0
70 5 44DS-3 &A -500 30 69.0(66 9 7¢ N-1 vT -100 2.0 70.0|40 35 4v V= +8 -620 1.0 71.0
13 62 5¢DO= s A -550 0.0 72.0(58 17 6NDS-1 vQ -200 0.0 72.0(50 25 4v O= +8 -620 1.0 71.0
& DKn1042 « K9764 & KD92
v EK5 v EKD3 v Kn32
+ 1085 *7 ¢E74
&EK &E64 #Knl104
487 & K95 « D85 & EKn2 41064 & EKn5
vD632 vKnl09874 v 984 v7 v5 v E10986
¢+ E642 +D3 ¢ KDKn93 ¢ E1065 + DKn5 + 10932
#932 &76 KD #Kn9532 &#ED9853 &7
«E63 «103 « 873
v- v Kn10652 vKD74
+ KKn97 ¢ 842 + K86
#DKn10854 #1087 &K62
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
41 36 64 N= ¢+Q 1430 71.0 10|35 42 3v N= v7 140 720 0.0(57 20 3ND O -3 a3 800 72.0 0.0
44 33 64 N= vJ 1430 71.0 10|55 22 3NV-2 vA 100 70.0 20|15 62 3¢ O-2 +6 200 69.0 3.0
60 17 6% N +1 vT 1390 68.0 4.0|29 48 1a N= v7 80 67.0 50|44 33 3«DV-1 & K 200 69.0 3.0
24 53 3NN +4 v5 720 640 8.0|44 33 1a N= v7 80 67.0 5.0(21 56 INS+1 3 120 66.0 6.0
35 42 3NN+4 v8 720 640 80|15 62 2NO-1 vA 50 610 110 5 72 3& V-1 v2 100 61.0 11.0
55 22 3NN +4 v7 720 640 80|65 12 3NV-1 vQ 50 61.0 11.0(11 66 2v O-1 a7 100 61.0 11.0
43 34 44 N +3 vlJ 710 60.0 12.0|67 10 2NV-1 vA 50 61.0 11.0(50 27 44 O-1 &»J 100 61.0 11.0
5 72 3NN+3 vJ 690 53.0 19.0|74 2 2NV-1 vA 50 61.0 11.0|51 26 2v O-1 &2 100 61.0 11.0
19 58 3N N +3 vJ 690 53.0 19.0|21 56 4v N-1 *7 -100 55.0 17.0(29 48 INS= &3 90 55.0 17.0
21 56 3NN +3 v8 690 53.0 19.0(60 17 3v N-1 &3 -100 55.0 17.0|47 30 INS= &5 90 55.0 17.0
45 32 3NN+3 vJ 690 53.0 19.0| 1 3 4¢ V+1 vA -150 36.0 36.0 |16 61 Pass 46.0 26.0
54 23 3NN +3 vJ 690 53.0 19.0| 7 70 4¢ V+1 vA -150 36.0 36.0 (28 49 Pass 46.0 26.0
67 10 3NN +3 vlJ 690 53.0 19.0|11 66 3¢ V+2 vA -150 36.0 36.0|40 37 Pass 46.0 26.0
14 63 44 N +2 vlJ 680 41.0 31.0|19 58 4¢ V+1 vA -150 36.0 36.0 (43 34 Pass 46.0 26.0
28 49 4e N+2 v6 680 41.0 31.0({24 53 3& O +2 T -150 36.0 36.0 (65 12 Pass 46.0 26.0
29 48 54 S+1 *A 680 41.0 31.0(39 38 4¢ V+1 vA -150 36.0 36.0|69 8 Pass 46.0 26.0
50 27 54 N+1 +Q 680 41.0 31.0|40 37 34 O+2 T -150 36.0 36.0(74 2 Pass 46.0 26.0
71 6 44 N+2 +Q 680 41.0 31.0(43 34 3¢ O+2 T -150 36.0 36.0(41 36 INS-1 &5 -50 36.0 36.0
74 2 44 N+2 vJ 680 41.0 31.0(45 32 3¢ O+2 T -150 36.0 36.0(46 31 INS-1 &5 -50 36.0 36.0
13 64 3NN +2 vJ 660 34.0 38.0|50 27 4¢ O+1 vA -150 36.0 36.0|54 23 2NN-1 vT -50 36.0 36.0
4 73 54 N= vJ 650 26.0 46.0|52 25 4¢ V+1 vA -150 36.0 36.0(67 10 2¢ O= a3 -90 32.0 40.0
7 70 44 N +1 vlJ 650 26.0 46.0|54 23 3¢ V+2 vA -150 36.0 36.0| 7 70 3NS-2 a4 -100 27.0 45.0
11 66 44 N+1 vJ 650 26.0 46.0 |57 20 3¢ V+2 vA -150 36.0 36.0(13 64 2N S-2 +Q -100 27.0 45.0
46 31 44 N+1 vJ 650 26.0 46.0|59 18 4¢ V+1 vA -150 36.0 36.0(35 42 2v S-2 v5 -100 27.0 45.0
52 25 44 N+1 vT 650 26.0 46.0(68 9 2NV +1 &4 -150 36.0 36.0(59 18 2N N -2 &5 -100 27.0 45.0
65 12 44 N+1 +Q 650 26.0 46.0 (69 8 4¢ V+1 vA -150 36.0 36.0| 4 73 3& V= 49 -110 17.0 55.0
69 8 54 N= +Q 650 26.0 46.0|71 6 34 0+2 T -150 36.0 36.0(19 58 2¢ O +1 LY:] -110 17.0 55.0
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1 3 464 N= vT 620 12.0 60.0|51 26 3¢ V+3 vA -170 18.0 54.0(24 53 2&V +1 &K -110 17.0 55.0
15 62 44 N= v3 620 12.0 60.0|13 64 3v N-2 v7 -200 14.0 58.0(45 32 3& V= &Q -110 17.0 55.0
16 61 44 N= vJ 620 12.0 60.0|14 63 3v N-2 &2 -200 14.0 58.0|60 17 3% V= &K -110 17.0 55.0
38 39 44 N= vJ 620 12.0 60.0|47 30 3v S-2 v4 -200 140 58.0(71 6 2& O +1 &2 -110 17.0 55.0
51 26 44 N= vlJ 620 12.0 60.0| 4 73 INV+5 46 -240 10.0 62.0|55 22 24 N-3 &7 -150 9.0 63.0
57 20 44 N= vJ 620 12.0 60.0|46 31 4v S-3 +K -300 80 64.0(68 9 2NS-3 T -150 9.0 63.0
68 9 44 N= vJ 620 12.0 60.0|16 61 5¢ V= vQ -400 6.0 66.0|14 63 34 N-4 vA -200 6.0 66.0
40 37 7#DS-1 ¢A -200 2.0 70.0(28 49 4vyDN-2 *A -500 40 68.0(39 38 24DN-2 &7 -300 4.0 68.0
47 30 64 N -2 vJ -200 20 70.0| 5 72 4¢DV+1 vA -610 20 700 1 3 3vDS-3 v5 -500 2.0 70.0
59 18 74 N-2 v4 -200 2.0 70.0(41 36 4vDN-3 ¢A -800 0.0 72.0(52 25 34DV = &J -670 0.0 72.0
7 & DKn3 8 «32 9 «ED103
Syd v 96532 Vast v K10972 Nord v98
Alla ¢ E743 Ingen ¢ Kn1072 ov ¢ E62

&5 &#Kn9 D754
4876 4 EK10 4 KD1075 «EKn9 &4 KKn42 &987
vED7 v K84 v8 v ED53 v D6 v EK54
+10952 ¢ D6 ¢+ KD653 ¢ E84 ¢ KD105 ¢ Kn83
&EKn2 #D10874 &75 #E63 &#EK10 #Kn63

#9542 « 3864 465

vKnl10 v Kn64 vKn10732

¢ KKn8 +9 +974

#K963 #KD10842 982

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
47 32 3¢ V= &5 -110 71.0 10| 6 73 74 V-2 &J 100 720 0.0|53 26 3NV-2 v9 200 720 0.0
72 7 38&V= *A -110 71.0 1.0|25 54 64 O-1 &J 50 670 50| 2 4 3s4V-1 &4 100 64.0 8.0
53 26 INO +1 vlJ -120 68.0 4.0|44 35 7TNO-1 &K 50 670 50( 5 1 3NV-1 v9 100 64.0 8.0
12 67 2NV +1 +3 -150 62.0 10.0 (45 34 6NO-1 &K 50 670 5.0(15 64 3NO-1 &3 100 64.0 8.0
14 65 2N O +1 vlJ -150 62.0 10072 7 64 V-1 &J 50 670 5.0(48 31 240-1 46 100 64.0 8.0
41 38 INO +2 vlJ -150 62.0 10.0(52 27 3NO+1 &K -430 62.0 10.0(66 13 3NO-1 v3 100 64.0 8.0
55 24 INO +2 vJ -150 62.0 10.0| 2 4 44 V+1 v9 -450 54.0 18.0|68 11 3NV-1 v9 100 64.0 8.0
70 9 INV+2 v2 -150 620 100 5 1 4e V+1 &J -450 54.0 18.0|69 10 3NO-1 v3 100 64.0 8.0

5 1 2NO+2 &3 -180 53.0 19.0(30 49 44 V+1 &J -450 54.0 18.0| 6 73 24 O= vlJ -110 56.0 16.0
25 54 INO +3 a2 -180 53.0 19.0(41 38 44 V+1 v9 -450 54.0 18.0(36 43 INO+1 v2 -120 53.0 19.0
44 35 1IN O +3 vlJ -180 53.0 19.0 (47 32 44 V+1 &J -450 54.0 18.0(46 33 1INV +1 &5 -120 53.0 19.0
46 33 1INV +3 v2 -180 53.0 19.0(55 24 44 V+1 a3 -450 54.0 18.0(12 67 1INV +2 &7 -150 48.0 24.0
29 50 2v N-2 &8 -200 48.0 24.0|66 13 44 V+1 &J -450 54.0 18.0|14 65 1INV +2 &5 -150 48.0 24.0

2 4 3NV= v2 -600 35.0 37.0|42 37 3NO+2 &K -460 44.0 28.0(60 19 2NO +1 vJ -150 48.0 24.0
20 59 3NO= &6 -600 35.0 37.0|56 23 3N O +2 &3 -460 44.0 28.0(20 59 2vyDN -2 +3 -300 41.0 31.0
22 57 3NO= &3 -600 35.0 37.0(60 19 3NO +2 &K -460 44.0 28.0(30 49 2vDS-2 *+ K -300 41.0 31.0
36 43 3NO= vlJ -600 35.0 37.0|12 67 4e V+2 a2 -480 34.0 38.0(42 37 INDN-2 49 -300 41.0 31.0
42 37 3NV= v3 -600 35.0 37.0(14 65 44 O +2 v2 -480 34.0 38.0(45 34 2vDS-2 &A -300 41.0 31.0
48 31 3NO= &3 -600 35.0 37.0(17 62 44 V +2 *T -480 34.0 380 8 71 3NV= *2 -600 22.0 50.0
52 27 3NO= vlJ -600 35.0 37.0(20 59 4a V +2 a2 -480 34.0 38.0(16 63 3NV= &5 -600 22.0 50.0
56 23 3NO= vlJ -600 35.0 37.0(22 57 44 V+2 *7 -480 34.0 38.0|22 57 3NV= v9 -600 22.0 50.0
58 21 3NO= vJ -600 35.0 37.0(53 26 44 V +2 *7 -480 34.0 38.0(25 54 3NO= vT -600 22.0 50.0
60 19 3NO= vlJ -600 35.0 37.0|58 21 4e V+2 v2 -480 34.0 38.0(29 50 3NV= v9 -600 22.0 50.0
61 18 3NO= vlJ -600 35.0 37.0| 8 71 3NO+3 &K -490 25.0 47.0(40 39 3NV= &5 -600 22.0 50.0
68 11 3NV = v3 -600 35.0 37.0(69 10 3NO+3 &K -490 25.0 47.0|41 38 3NV = *2 -600 22.0 50.0

6 73 3NO+1 vlJ -630 11.0 61.0(46 33 54 V +2 &J -510 21.0 51.0|44 35 3NO= v2 -600 22.0 50.0

8 71 3NO+1 &6 -630 11.0 61.0(51 28 44 V+3 v9 -510 21.0 51.0|47 32 3NO= +9 -600 22.0 50.0
15 64 3N O +1 a3 -630 11.0 61.0|74 3 6¢ V= &J -920 18.0 54.0|52 27 3NO= 46 -600 22.0 50.0
16 63 3NO+1 LY -630 11.0 61.0(15 64 64 O= a2 -980 9.0 63.0(56 23 3NO= vJ -600 22.0 50.0
17 62 3NO+1 a5 -630 11.0 61.0(16 63 64 V= a3 -980 9.0 63.0|58 21 3NV = v9 -600 22.0 50.0
30 49 3NO+1 vJ -630 11.0 61.0(29 50 64 V= &J -980 9.0 63.0|61 18 3NO= &2 -600 22.0 50.0
40 39 3NO +1 &6 -630 11.0 61.0(36 43 64 V= a2 -980 9.0 63.0(70 9 3NO= v9 -600 22.0 50.0
45 34 3N O +1 &3 -630 11.0 61.0(40 39 64 V= *7 -980 9.0 63.0(72 7 3NV= v9 -600 22.0 50.0
51 28 3NV +1 *4 -630 11.0 61.0(48 31 64 V= *J -980 9.0 63.0(17 62 3NV +1 v9 -630 50 67.0
66 13 3N O +1 a2 -630 11.0 61.0(61 18 64 V= &J -980 9.0 63.0(55 24 3NV +1 &6 -630 5.0 67.0
69 10 3NO +1 49 -630 11.0 61.0(70 9 64 V= &J -980 9.0 63.0(51 28 3NV +2 oT -660 1.0 71.0
74 3 3NV +1 4Q -630 11.0 61.0(68 11 64 V+1 a3 -1010 0.0 72.0|74 3 3NV +2 a3 -660 1.0 71.0
10 & KKn83 11 a7 12 & K9742
Ost v84 Syd v K9642 Vast v32
Alla + K106543 Ingen + ED1042 NS + KKn107

&9 87 &Kn7

492 4 ED754 « ED983 410654 4 E108 & Kn63
v96 v K75 vEKn1075 v- vKD8654 v7

+ D9 7 + K9 + 873 *2 + D963
#EK108762 #D543 &9 &#DKn10542 &E96 #K10542

«106 & KKn2 «D5

v EDKn1032 v D83 v EKn109

¢+ EKn82 + Kn65 + E854

&Kn &#EK6B3 »D83

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

7 1 5¢ N+1 s A 620 720 00|17 64 34DV -4 &7 800 720 00| 3 5 3vDV-2 LY 300 70.0 2.0
15 66 34D O -2 &J 500 69.0 3.0|21 60 3NDS= a3 550 70.0 20|54 27 3vDV-2 &J 300 70.0 2.0
23 58 54DV -2 v4 500 69.0 3.0|54 27 54DV -3 v2 500 68.0 40|71 10 3vDV-2 &J 300 70.0 2.0
45 36 44 O-3 &J 300 660 60| 7 1 3NS+1 LY:] 430 66.0 6.0|73 8 INS+4 vK 210 66.0 6.0
21 60 34 O-2 &J 200 59.0 13.0|13 68 3NS= v7 400 63.0 9.0|67 14 2NS= vK 120 64.0 8.0
62 19 44 O-2 &9 200 59.0 13.0(15 66 3NN= &3 400 63.0 9.0|53 28 24 N= v7 110 62.0 10.0
69 12 2v S+3 &A 200 59.0 13.0|41 40 44D O-2 &3 300 580 140| 7 1 2y V-2 a2 100 53.0 19.0
70 11 3v S+2 &A 200 59.0 13.0|48 33 44DV -2 &3 300 58.0 140 9 72 2v V-2 v3 100 53.0 19.0
73 8 54DV -1 v8 200 59.0 13.0|67 14 44DV -2 &8 300 58.0 14.0|15 66 3vDO-1 &J 100 53.0 19.0
74 4 5&4DV-1 v8 200 59.0 13.0|30 51 3v N= &Q 140 54.0 18.0|17 64 3v V-2 &J 100 53.0 19.0
42 39 3v S= &A 140 48.0 24.0( 9 72 44DV-1 a7 100 440 28.0(21 60 2v V-2 &J 100 53.0 19.0
43 38 2v S+1 &A 140 48.0 24.0|16 65 44 V-2 &8 100 44.0 28.0|41 40 2v V-2 LN 100 53.0 19.0
53 28 2v N+1 &A 140 48.0 24.0(31 50 44 V-2 &3 100 440 28.0 (47 34 3v V-2 &J 100 53.0 19.0
54 27 2v S+1 49 140 48.0 24.0(43 38 44D O-1 &K 100 440 28.0(69 12 2v V-2 &J 100 53.0 19.0
56 25 2v S+1 &K 140 48.0 24.0|47 34 44DV -1 &8 100 440 280 6 2 2v V-1 &J 50 38.0 34.0
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18 63 3¢ N= 3 110 42.0 300|149 32 44DO-1 «A 100 44.0 28.0|31 50 INV-1 a4 50 38.0 34.0
31 50 5 V-1 v8 100 37.0 350|61 20 44aDO-1 #A 100 44.0 28.0|43 38 2v V-1 v3 50 38.0 34.0
49 32 3NO-1 *J 100 37.0 35062 19 44DO-1 #A 100 440 28.0|45 36 2v V-1 a2 50 38.0 34.0
57 24 5& V-1 v8 100 37.0 350|74 4 34 0-2 «K 100 44.0 28.0|52 29 3v V-1 v3 50 38.0 34.0
61 20 5# V-1 v8 100 37.0 35.0|45 36 44 O-1 v3 50 30.0 42.0|57 24 2v V-1 *) 50 38.0 34.0
6 2 4¢ N-1 *4 -100 29.0 43.0|52 29 44 O-1 *A 50 30.0 42074 4 2v V-1 *J 50 38.0 34.0
16 65 5¢ S-1 49 -100 29.0 43.0|53 28 34 V-1 8 50 30.0 42.0|30 51 3NS-1 v8 -100 26.0 46.0
46 35 2v S-1 *A -100 29.0 43.0|56 25 44 V-1 v2 50 30.0 42.0|42 39 24 N-1 v7 -100 26.0 46.0
47 34 4¢ N-1 *4 -100 29.0 43.0|70 11 34 V-1 a7 50 30.0 42.0|48 33 24 N-1 v7 -100 26.0 46.0
26 55 34 V= v8 -110 24.0 48.0|71 10 4v N-1 2Q -50 24.0 48.0(49 32 24 N-1 v4 -100 26.0 46.0
41 40 3+ V+1 v8 -130 20.0 52.0|73 8 4vyDN-1  &T -100 22.0 50.0|70 11 3NS-1 vK -100 26.0 46.0
52 29 44 V= v8 -130  20.0 52.0|57 24 1a V+1 *8 -110 20.0 52.0|26 55 2v V= v3 -110 18.0 54.0
59 22 44 V= v8 -130 20.0 520| 3 5 3a4V= &7 -140 16.0 56.0 |37 44 1lv V+1 *) -110 18.0 54.0
9 72 44V +1 v8 -150 16.0 56.0|18 63 34 O= ¢5 -140 16.0 56.0|61 20 2v V= v3 -110 18.0 54.0
3 5 5¢N-2 8 -200 13.0 59.0|69 12 34 O= *A -140 16.0 56.0|13 68 2v V +1 *J -140 14.0 58.0
30 51 5¢ S-2 *A -200 13.0 59.0|42 39 4vyDN-2 #Q -300 12.0 60.0|16 65 3NS-2 vK -200 8.0 64.0
13 68 5¢DS-2 *A -500 10.0 62.0|26 55 44 V= *8 -420 10.0 62.0|23 58 INN-2 *2 -200 8.0 64.0
17 64 3NO= vA -600 4.0 68.0|46 35 44 O+1 *A -450 8.0 64.0|46 35 3NS-2 v6 -200 8.0 64.0
37 44 3NO= v9 -600 4.0 68.0|59 22 5¢DN-3 T -500 6.0 66.0|59 22 3NS-2 vK -200 8.0 64.0
48 33 3NO= vQ -600 4.0 68.0|37 44 44DV +1 48 -690 4.0 68.0|62 19 24 N-2 v7 -200 8.0 64.0
67 14 54O = vA -600 4.0 68.0|23 58 34DV +2 &7 -730 2.0 70.0|18 63 34 N-4 v7 -400 1.0 71.0
71 10 54 0= vA -600 4.0 680| 6 2 5vDN-5 4T -1100 0.0 72.0|56 25 24 N-4 v7 -400 1.0 71.0
13 « KDKn86 14 » K986 15 » K10965
Nord v 963 Ost v K876 Syd vE6
Alla + K93 Ingen 32 NS ¢ Kn2
*K9 *K87 #E643
4E109 472 & Kn7 410542 4742 « EDKn83
vKKn84 v107 v Kn4 vD10 vKn v 7432
¢ D6 ¢ Kn1074 ¢+ D9864 ¢ EK105 ¢+ D9873 ¢ EK4
#D843 #107652 #D1094 #653 D985 &2
4543 «ED3 a-
v ED52 v E9532 vKD10985
¢ E852 ¢ Kn7 ¢ 1065
#EKn #EKn2 #KKn107
Par  Kontr ut Res Poang Par  Kontr ut Res Poéng Par  Kontr ut Res Poéng
43 40 44 N+2 o7 680 720 00| 1 9 4v S+l L) 450 65.0 7.0|44 39 4vDS= a2 790 71.0 1.0
1 9 3NS+2 +6 660 68.0 40| 8 2 4v S+1 *9 450 65.0 7.0|50 33 4vDN= a7 790 71.0 1.0
32 51 3NS+2 v4 660 68.0 4.0|19 64 4v S+1 v4 450 65.0 70| 7 3 4vS= o7 620 68.0 4.0
57 26 3N S +2 v4 660 68.0 4.0|24 59 4v S+1 LN 450 65.0 7.0|72 11 44DO-3 vK 500 66.0 6.0
24 59 3NN +1 vT 630 58.0 14.0|32 51 4v S+1 *4 450 65.0 7.0|16 67 3«aDO-2 vK 300 62.0 10.0
27 56 3N S +1 v4 630 58.0 14.0|38 45 4v S+1 a7 450 65.0 7.0|19 64 4¢DO-2 ¢A 300 62.0 10.0
38 45 3NS+1 3 630 58.0 14.0|50 33 4v N+1 *4 450 65.0 7.0|31 52 44DO-2 vK 300 62.0 10.0
42 41 3NN+1 vT 630 58.0 14.0|60 23 4v S+1 a7 450 65.0 7.0|27 56 2v S+2 +3 170 55.0 17.0
55 28 3NN+1 vT 630 58.0 14.0|10 73 4v S= +8 420 34.0 38.0|38 45 2v N+2 +3 170 55.0 17.0
68 15 3NS+1 v4 630 58.0 14.0|16 67 4v S= a7 420 34.0 38.0|57 26 2v S+2 ¢9 170 55.0 17.0
70 13 3NS+1 v2 630 58.0 14.0|17 66 4v S= LX) 420 340 38.0|70 13 2v N+2 *2 170 55.0 17.0
4 6 44 N= ¢J 620 38.0 34.0|18 65 4v S= *4 420 34.0 38.0|14 69 3v S= a2 140 43.0 29.0
10 73 44 N= ¢J 620 38.0 34.0|22 61 4v S= LN 420 34.0 38.0|18 65 2v N+1 ¢2 140 43.0 29.0
14 69 44 N= *J 620 38.0 34.0|31 52 4v S= +4 420 34.0 38.0|24 59 2v S+1 *8 140 43.0 29.0
19 64 44 N= ¢J 620 38.0 34.0|42 41 4v S= a) 420 34.0 38.0|53 30 3v S= a2 140 43.0 29.0
22 61 44 N= ¢J 620 38.0 34.0|43 40 4v S= *4 420 34.0 38.0|58 25 3v S= a2 140 43.0 29.0
46 37 44 N= vT 620 38.0 34.0|46 37 4v S= L) 420 34.0 38.0|63 20 3v S= a7 140 43.0 29.0
49 34 44 N= vT 620 38.0 34.0|47 36 4v S= +8 420 34.0 38.0|71 12 2v S+1 a2 140 43.0 29.0
50 33 44 N= a2 620 38.0 34.0|48 35 4v S= LN 420 340 380|74 5 3vS= a2 140 43.0 29.0
53 30 44 N= vT 620 38.0 34.0|49 34 4v S= L) 420 340 380| 1 9 34DO-1 vK 100 31.0 41.0
60 23 44 N= vT 620 38.0 34.0|53 30 4v S= LN 420 34.0 38.0|32 51 24aDO-1 vK 100 31.0 41.0
62 21 44 N= vT 620 38.0 34.0|54 29 4v N= ¢K 420 34.0 38.0|42 41 34 O0-2 vK 100 31.0 41.0
63 20 44 N= *J 620 38.0 34.0|55 28 4v S= *4 420 34.0 38.0|60 23 24DV-1 vA 100 31.0 41.0
71 12 44 N= vT 620 38.0 34.0|57 26 4v S= a) 420 34.0 38.0(46 37 24 O-1 vK 50 24.0 48.0
8 2 3NS= *4 600 22.0 50.0|58 25 4v S= +6 420 34.0 38.0|55 28 24 O-1 vK 50 24.0 48.0
31 52 3NS= *4 600 22.0 50.0|62 21 4vy N= ¢3 420 34.0 38.0|68 15 34 O-1 vK 50 24.0 48.0
44 39 3NS= *4 600 22.0 50.0|63 20 4v S= *4 420 340 380| 8 2 3vS-1 a2 -100 16.0 56.0
7 3 44 N-1 v7 -100 13.0 59.0|68 15 4v S= L) 420 34.0 38.0|17 66 4v S-1 a2 -100 16.0 56.0
47 36 44 N-1 vT -100 13.0 59.0|70 13 4v S= +4 420 34.0 38.0|22 61 4v S-1 +3 -100 16.0 56.0
48 35 44 N-1 vT -100 13.0 59.0|71 12 4v S= a) 420 34.0 38.0|43 40 4v S-1 *8 -100 16.0 56.0
54 29 44 N-1 vT -100 13.0 59.0|72 11 4v S= L) 420 34.0 38.0|49 34 4v S-1 ¢3 -100 16.0 56.0
58 25 44 N-1 5 -100 13.0 59.0| 4 6 3v S+2 *9 200 9.0 630| 4 6 24 O= vK -110 7.0 65.0
74 5 44 N-1 vT -100 13.0 59.0|44 39 2v S+3 *4 200 9.0 63.0|47 36 24 O= vK -110 7.0 65.0
17 66 54 N-2 vT 200 6.0 66.0| 7 3 2v S+2 ¢5 170 5.0 67.0|48 35 24 O= vK -110 7.0 65.0
18 65 64 N-3 vT -300 4.0 68.0|14 69 2v S+2 L) 170 5.0 67.0|54 29 24 O= vK -110 7.0 65.0
72 11 5v N-4 *6 -400 2.0 70.0|74 5 2v S+l *8 140 2.0 70.0|10 73 3NN-3 ¢A -300 2.0 70.0
16 67 44 O= vT -620 0.0 72.0|27 56 4v S-1 EN) -50 0.0 72.0|62 21 24DO= vA -470 0.0 72.0
16 «E10752 17 o- 18 « EK8654
Vast v K84 Nord vD7532 Ost vD7
ov * K Ingen ¢ Kn9872 NS ¢ D10975
#8765 #E95 *-
284 4 KKn6 4K1094 «EDKn83 97 4 Knl102
vE7 v 1096 vKn8 v9 vKKn1095 v EB8642
¢ EKn9873 ¢ D42 ¢ EG + D104 ¢ EK + 84
#ED3 #K1092 #DKn872 #K1063 10862 #543
D93 #7652 «D3
v DKn532 v EK1064 v3
¢ 1065 ¢ K53 ¢ Kn632
*Kn4 *4 #EKDKn97
Kontr ut Res Poéan Par  Kontr ut Res Poang Kontr ut Res Poéan
72 13 3NDO-1 46 200 72.0 39 46 5vDS+1 ¢A 750 720 00| 8 4 44 N+1 +8 650 70.0
5 7 3NV-1 45 100 63.0 5 7 5vDS= ¢A 650 64.0 80|11 1 54 N-= a2 650 70.0
23 62 3NO-1 3 100 63.0 17 68 5vDS= a4 650 64.0 8.0]|28 57 44 N+1 a2 650 70.0




33 52 3NV-1 a7 100 63.0 9.0|19 66 5vDS= ¢A 650 64.0 80| 2 10 44 N= +6 620 52.0 20.0
47 38 3NO-1 43 100 63.0 9.0|28 57 5vDN= A 650 64.0 80| 9 3 44 N= vA 620 52.0 20.0
50 35 3NO-1 3 100 63.0 9.0|45 40 5vDN= *6 650 640 80|17 68 44 N= vA 620 52.0 20.0
63 22 3NV-1 a5 100 63.0 9.0|47 38 5vDS= K 650 64.0 8.0|23 62 44 N= vA 620 52.0 20.0
71 14 3NO-1 43 100 63.0 9.0|49 36 5vDS= a4 650 64.0 8.0|25 60 44 N= vA 620 52.0 20.0
73 12 3NO-1 3 100 63.0 9.0|54 31 5¢v N= v9 450 55.0 17.0|39 46 44 N= vA 620 52.0 20.0
43 42 3¢ V= v4 -110 54.0 18.0|59 26 5v S= ¢A 450 55.0 17.0|44 41 44 N= vA 620 52.0 20.0
2 10 INO+1 a2 -120 49.0 23.0|64 21 54DO-2 vA 300 52.0 20.0|45 40 44 N= vA 620 52.0 20.0
18 67 2NV = 5 -120 49.0 23.0| 8 4 54 O-2 &4 100 49.0 23.0(49 36 44 N= vA 620 52.0 20.0
25 60 INO+1 a5 -120 49.0 23.0|55 30 4v O-2 *4 100 49.0 23.0|50 35 44 N= vA 620 52.0 20.0
64 21 2NO= 43 -120 49.0 23.0| 2 10 54 V-1 v2 50 39.0 33.0|54 31 44 N= vA 620 52.0 20.0
45 40 3¢ V+1 *6 -130 44.0 28.0|20 65 44 O-1 &4 50 39.0 33.0|58 27 44 N= vA 620 52.0 20.0
8 4 3¢ V+2 & A -150 37.0 35.0|25 60 44 O-1 vK 50 39.0 33.0|59 26 44 N= +8 620 52.0 20.0
11 1 2¢ V+3 *8 -150 37.0 35.0|56 29 44 O-1 *4 50 39.0 33.0|63 22 44 N= vA 620 52.0 20.0
19 66 2¢ O +3 8 -150 37.0 35.0|61 24 44 O-1 vA 50 39.0 33.0|72 13 44 N= vA 620 52.0 20.0
56 29 3¢ V+2 s A -150 37.0 35.0|63 22 44 V-1 v2 50 39.0 33.0|19 66 5vDO-3 A 500 35.0 37.0
58 27 3¢ V+2 s A -150 37.0 35.0|71 14 44 O-1 vA 50 39.0 33.0|48 37 5vDV-3 «A 500 35.0 37.0
69 16 2¢ V+3 *6 -150 37.0 35.0|74 6 44 V-1 v4 50 39.0 33.0|64 21 34 N+ v2 170 32.0 40.0
15 70 3¢ O+3 *6 -170 25.0 47.0|32 53 5v S-1 *2 -50 30.0 42.0|56 29 5v O-3 «A 150 30.0 42.0
17 68 4¢ V+2 *7 -170 25.0 47.0|15 70 5vDN-1 43 -100 23.0 49.0|61 24 4¢ N= vA 130 28.0 44.0
39 46 44 V+2 v2 -170 25.0 47.0|33 52 5¢vDS-1 49 -100 23.0 49.0|20 65 4v V-2 «A 100 25.0 47.0
44 41 3¢ V+3 *6 -170 25.0 47.0|50 35 5vDN-1 49 -100 23.0 49.0|55 30 4v V-2 «A 100 25.0 47.0
54 31 3¢ V+3 v4 -170 25.0 47.0|58 27 5vDS-1 v8 -100 23.0 49.0| 5 7 5¢ N-1 vA -100 15.0 57.0
55 30 3¢ V+3 *6 -170 25.0 47.0|72 13 5¢DN-1 s A -100 23.0 49.0|15 70 54 N-1 v3 -100 15.0 57.0
59 26 3vS-4 vA -200 18.0 54.0|73 12 5vDS-1 49 -100 23.0 49.0|18 67 54 N-1 vA -100 15.0 57.0
9 3 3NO+2 LY6) -660 11.0 61.0|18 67 34 O+1 vA -170 15.0 57.0|33 52 5¢ S-1 vT -100 15.0 57.0
20 65 3N O +2 v2 -660 11.0 61.0|43 42 34 O+1 vK -170 15.0 57.0|47 38 5¢ S-1 vT -100 15.0 57.0
28 57 3N O +2 43 -660 11.0 61.0|69 16 5vDN-2 oA -300 12.0 60.0|51 34 44 N-1 vA -100 15.0 57.0
32 53 3N O +2 3 -660 11.0 61.0|11 1 4vO= vK -420 6.0 66.0|71 14 5¢ S-1 vT -100 15.0 57.0
48 37 3NO+2 v2 -660 11.0 61.0|23 62 44 O= vA -420 6.0 66.0|74 6 44 N-1 vA -100 15.0 57.0
74 6 3NO+2 v3 -660 11.0 61.0|44 41 4a V= ¢2 -420 6.0 66.0|32 53 54D S-1 *A -200 3.0 69.0
61 24 3NV +3 *8 -690 4.0 68.0|48 37 44 V= vA -420 6.0 66.0|43 42 5¢DN-1 vA -200 3.0 69.0
51 34 3NO +4 3 -720 2.0 70.0|51 34 44 O= vA -420 6.0 66.0|69 16 5¢DS-1 v5 -200 3.0 69.0
49 36 44DN-4 vT -800 0.0 720| 9 3 44 0+1 vA -450 0.0 72.0|73 12 64 N-2 *2 -200 3.0 69.0
19 « DKn1082 20 a5 21 « ED1064
Syd v 10752 Vast v EDKn8753 Nord vD732
ov +42 Alla *4 NS +K
#K10 #EK62 #KD7
«EK75 49643 46 « ED10974 « K5 « Kn82
vKn96 vKD3 v10964 vK2 v Kn94 v EKG5
+Kn ¢ EK9 ¢ KKn109 ¢ EG63 ¢ DKn8 ¢ 5432
#D9653 #874 #DKn107 95 #EKn1096 54
a- & KKn832 4973
vE84 v- v 108
+ D1087653 ¢ D8752 + E10976
#EKn2 843 832
Par  Kontr ut Res Poang Par  Kontr ut Res Poéng Par  Kontr ut Res Poéng
51 36 44DO-4 ¢3 1100 720 0.0|49 38 24DO-3 ¢2 800 70.0 2.0|40 47 24DN= &5 670 72.0 0.0
73 14 34DO-3 +6 800 70.0 20|64 23 44DO-3 42 800 70.0 20|10 4 3¢DO-3 vT 500 70.0 20
70 17 3¢DS= aK 470 68.0 40|74 7 44DO-3 &5 800 70.0 20|33 54 3¢ O-4 49 200 67.0 5.0
113 4404 +6 400 65.0 7.0|52 35 24DO-2 ¢2 500 66.0 6.0|44 43 3+ V-4 v3 200 67.0 5.0
55 32 34 04 +8 400 65.0 7.0/40 47 3v N-1 %9 -100 64.0 80| 1 13 24 N+2 &5 170 62.0 10.0
6 8 34V-3 *4 300 62.0 10.0| 1 13 3v N-2 *9 -200 50.0 22.0| 3 11 24 N+2 5 170 62.0 10.0
34 53 3NO-2 +6 200 59.0 13.0| 6 8 4v S-2 ¢ A -200 50.0 22.0|19 68 1a N+3 &5 170 62.0 10.0
57 30 3#DV-1 «Q 200 59.0 13.0|16 71 3v N-2 *9 -200 50.0 22.0|26 61 3v O-3 3 150 58.0 14.0
59 28 2¢ S+2 «A 130 56.0 16.0|21 66 3v N-2 3 -200 50.0 220| 9 5 34 N= +5 140 46.0 26.0
3 11 24 S= *6 110 440 28.0(24 63 3v N-2 oA -200 50.0 22.0|16 71 34 N= 8 140 46.0 26.0
10 4 2¢ S+1 +J 110 44.0 28.0(29 58 4v N-2 *9 -200 50.0 22.0|18 69 34 N= vA 140 46.0 26.0
18 69 3¢ S= A 110 44.0 28.0(51 36 3v N-2 s A -200 50.0 22.0|21 66 34 N= &5 140 46.0 26.0
24 63 2¢ S+1 «A 110 44.0 28.0(55 32 3v N-2 *9 -200 50.0 22.0|34 53 24 N+1 &5 140 46.0 26.0
26 61 3¢ S= A 110 44.0 28.0(56 31 3v N-2 %9 -200 50.0 22.0|46 41 1a N+2 vA 140 46.0 26.0
44 43 3¢ S= K 110 44.0 28.0(57 30 3v N-2 &9 -200 50.0 22.0|48 39 24 N+1 5 140 46.0 26.0
46 41 3¢ S= «K 110 44.0 28.0(59 28 3v N-2 *2 -200 50.0 22.0|50 37 24 N+1 &5 140 46.0 26.0
56 31 2¢ S+1 3 110 44.0 28.0 (65 22 4y N-2 %9 -200 50.0 22.0|57 30 24 N+1 &5 140 46.0 26.0
62 25 2¢ S+1 +J 110 44.0 28.0(73 14 4y N-2 *9 -200 50.0 22.0|65 22 24 N+1 *5 140 46.0 26.0
65 22 2¢ S+1 3 110 440 280( 3 11 4v N-3 *9 -300 25.0 47.0|70 17 24 N+1 *4 140 46.0 26.0
72 15 2¢ S+1 +J 110 440 28.0(10 4 4v N-3 oA -300 25.0 47.0| 6 8 24 N= vA 110 27.0 45.0
9 5 4aV-1 *4 100 30.0 42.0|12 2 4v N-3 *9 -300 25.0 47.0|20 67 24 N= &5 110 27.0 45.0
52 35 2NO-1 +6 100 30.0 42.0|18 69 4y N-3 *9 -300 25.0 47.0|24 63 24 N= vA 110 27.0 45.0
64 23 3NO-1 +3 100 30.0 42.0|19 68 4y N-3 %9 -300 25.0 47.0|56 31 24 N= &5 110 27.0 45.0
33 54 2¢ S= 3 90 26.0 46.0|26 61 4v N-3 *9 -300 25.0 47.0|59 28 24 N= *6 110 27.0 45.0
45 42 Pass 24.0 48.0|33 54 4y N-3 oA -300 25.0 47.0|60 27 24 N= &5 110 27.0 45.0
19 68 3¢ S-1 *4 -50 18.0 54.0|44 43 4v N-3 %9 -300 25.0 47.0|64 23 24 N= vA 110 27.0 45.0
20 67 3¢ S-1 s A -50 18.0 54.0|46 41 4v N-3 *9 -300 25.0 47.0|72 15 24 N= &5 110 27.0 45.0
29 58 2v N-1 *7 -50 18.0 54.0|50 37 4v N-3 s A -300 25.0 47.0|55 32 2¢ S= v4 90 18.0 54.0
48 39 3¢ S-1 %3 -50 18.0 54.0|62 25 4v N-3 5 -300 25.0 47.0|49 38 INV= &K -90 16.0 56.0
50 37 3¢ N-1 &K -50 18.0 54.0|70 17 4v S-3 s A -300 25.0 47.0|12 2 24 N-1 vA -100 8.0 64.0
12 2 3¢DS-1 oA -100 9.0 63.0|72 15 5v N-4 *9 -400 12.0 60.0|29 58 34 N-1 &5 -100 8.0 64.0
16 71 3¢DS-1 s A -100 9.0 63.0|48 39 3vyDN-2 +3 -500 10.0 62.0|45 42 44 N-1 &5 -100 8.0 64.0
49 38 4¢DS-1 *J -100 9.0 63.0| 9 5 4vyDN-3 s A -800 4.0 68.0|51 36 24 N-1 vA -100 8.0 64.0
60 27 3¢DS-1 v6 -100 9.0 63.0|20 67 4vyDN-3 *9 -800 4.0 68.0|52 35 24 N-1 &5 -100 8.0 64.0
21 66 2NO = v2 -120 4.0 68.0|34 53 4vDN-3 8 -800 4.0 68.0|62 25 44 N-1 vA -100 8.0 64.0
40 47 4eDS-2 a A -300 1.0 71.0|45 42 4vyDN-3 *9 -800 4.0 68.0|73 14 44 N-1 vA -100 8.0 64.0
74 7 4¢DS-2 5 -300 1.0 71.0|60 27 4vyDN-3 oA -800 4.0 68.0|74 7 INV+1 v2 -120 0.0 72.0
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22 & E872 23 & Knl104 24 & EKn72
Ost vDKn Syd vE9%4 Vast v Kn875
ov + 1095 Alla ¢+ E1043 Ingen ¢ E
&Kn762 &EKn3 &Knl1074
K53 & DKnl064 #953 & EKD6 aKD4 41053
vE52 ¢10973 v KKn v D10863 vE62 vD
¢ K874 ¢ D32 ¢ KD652 ¢ Kn7 ¢ 87542 ¢ D10963
&#D53 &K &K87 &92 &#K5 &#E963
49 4872 4986
v K864 v 752 v K10943
¢+ EKn6 498 ¢ KKn
#E10984 #D10654 D82
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
19 70 INN+2 +6 150 68.0 40| 2 14 4v O-2 &4 200 720 00| 7 9 3vsS= +5 140 68.0 4.0
35 54 INS+2 *4 150 68.0 40| 4 12 4vO-1 +9 100 67.0 50|34 55 3vS= v2 140 68.0 4.0
45 44 24 N +3 &Q 150 68.0 4.0(41 48 4v O-1 &4 100 67.0 50|41 48 3v S= *2 140 68.0 4.0
50 39 INN+2 *7 150 68.0 40|52 37 3v0O-1 &Q 100 67.0 50|58 31 2v S+1 *2 140 68.0 4.0
53 36 INS+2 *7 150 68.0 4.0|71 18 2NV-1 &) 100 67.0 50|73 16 3v S= +8 140 68.0 4.0
115 24 S+2 *7 130 41.0 31.0|73 16 2v O= a2 -110 62.0 10.0({20 69 2v S= *2 110 62.0 10.0
2 14 34S+1 a3 130 41.0 31.0(13 3 2v O+1 +9 -140 56.0 16.0|17 72 5¢DV-1 v5 100 58.0 14.0
7 9 24S+2 *7 130 41.0 31.0(25 64 34 O= a2 -140 56.0 16.0(30 59 3NV-2 v7 100 58.0 14.0
10 6 3&S+1 a3 130 41.0 31.0|50 39 2v O+1 +9 -140 56.0 16.0|52 37 5¢DV-1 v7 100 58.0 14.0
22 67 3% S+1 *7 130 41.0 31.0|57 32 2v O+1 &4 -140 56.0 16.0(11 5 4e¢ V-1 v7 50 50.0 22.0
25 64 2#& N +2 *4 130 41.0 31.0(66 23 2v O +1 &4 -140 56.0 16.0 |47 42 INV-1 a2 50 50.0 22.0
27 62 3% S+1 a3 130 41.0 31.0(49 40 2NV +1 aJ -150 49.0 23.0(50 39 4¢ O-1 v7 50 50.0 22.0
41 48 3# N +1 «Q 130 41.0 31.0|53 36 2NV +1 &) -150 49.0 23.0(60 29 INV-1 a7 50 50.0 22.0
46 43 2% S +2 *7 130 41.0 31.0(58 31 1v O +3 LY:] -170 46.0 26.0(74 8 4¢ V-1 v7 50 50.0 22.0
47 42 3% N +1 «Q 130 41.0 31.0|22 67 2NV +2 s -180 41.0 31.0|25 64 Pass 43.0 29.0
49 40 24 S +2 *2 130 41.0 31.0({30 59 2N O +2 &3 -180 41.0 31.0(65 24 Pass 43.0 29.0
51 38 3#S+1 & K 130 41.0 31.0(35 54 2NV +2 &) -180 41.0 31.0| 2 14 3v S-1 &K -50 33.0 39.0
52 37 3#S+1 vA 130 410 31.0({63 26 1INV +3 a] -180 41.0 31.0(13 3 3v S-1 +6 -50 33.0 39.0
57 32 3# S+1 *7 130 41.0 31.0(51 38 INDN-2 s A -500 36.0 36.0(21 68 4v S-1 v2 -50 33.0 39.0
58 31 3#S+1 a3 130 410 31.0( 7 9 3NV= T -600 28.0 44.0(22 67 3v S-1 *2 -50 33.0 39.0
60 29 2& S +2 &3 130 41.0 31011 5 3NV= &3 -600 28.0 44.0(49 40 4v S-1 *2 -50 33.0 39.0
61 28 2& S +2 *7 130 41.0 31.0|21 68 3NO= a2 -600 28.0 44.0(53 36 3v S-1 &K -50 33.0 39.0
63 26 3& S +1 a3 130 41.0 31.0(27 62 3NO= &) -600 28.0 44.0(66 23 4v S-1 & K -50 33.0 39.0
65 24 34 S+1 *7 130 410 31.0(34 55 3NV= s] -600 28.0 44071 18 3v S-1 *2 -50 33.0 39.0
66 23 3& S +1 v2 130 41.0 31.0(47 42 3NV= +3 -600 28.0 44.0(19 70 INO= v5 -90 22.0 50.0
71 18 3# S +1 *7 130 410 310(74 8 3NV= &3 -600 28.0 44.0(45 44 INV= v5 -90 22.0 50.0
73 16 3 N+1 s 130 41.0 31.0|19 70 4v O= s -620 18.0 54.0(46 43 INV= a7 -90 22.0 50.0
21 68 INS+1 *4 120 17.0 55.0|56 33 4v O= &4 -620 18.0 54.0 |57 32 4v S-2 *2 -100 18.0 54.0
34 55 INS+1 v2 120 17.0 55.0|60 29 4e V= rY:! -620 18.0 54.0( 1 15 3¢ V= v7 -110 14.0 58.0
20 69 3# S= v2 110 13.0 59.0| 1 15 3NV +1 +3 -630 11.0 61.0(61 28 3¢ V= &J -110 14.0 58.0
74 8 34S= v2 110 13.0 59.0|20 69 3NV +1 *4 -630 11.0 61.0(63 26 3¢ V= &J -110 14.0 58.0
13 3 240-1 &A 100 8.0 64.0(45 44 3NV +1 LY -630 11.0 61.0| 4 12 3¢ V+1 v7 -130 7.0 65.0
17 72 34 O-1 &T 100 8.0 64.0(61 28 3NV +1 s -630 11.0 61.0(27 62 4¢ O= vJ -130 7.0 65.0
56 33 2¢ V-1 &2 100 80 64.0(10 6 3NV+2 *4 -660 4.0 68.0|35 54 4¢ V= v7 -130 7.0 65.0
30 59 5#DS-1 a3 -100 40 68.0(17 72 3NV +2 T -660 40 68.0(56 33 4¢ O= v3 -130 7.0 65.0
4 12 24 O= 49 -110 2.0 70.0(46 43 3NV +2 +4 -660 40 68.0(10 6 INDV= &J -180 2.0 70.0
11 5 24 O+1 ¢A -140 0.0 72.0(65 24 1¢RDV +2 & -1030 0.0 72.0(51 38 5vDN-2 *2 -300 0.0 72.0
25 & EKKn753 26 & EKKn3 27 & K10432
Nord v K87 Ost v Kn932 Syd v E1093
oV +D Alla ¢ EKKn62 Ingen + 864
&E83 - »8
442 4 D106 41087 & D52 « ED5 496
v92 v E654 v 854 v76 v KKn v 652
¢ EKKn73 ¢ 1098642 + 103 + D4 4532 ¢ K1097
D654 »- #DKnl1076 #EK8532 #D9754 #KKn63
498 « 964 & Kn87
v DKn103 vEKD10 v D874
+5 49875 ¢ EDKn
&#KKn10972 94 &E102
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 17 44 N= +9 420 57.0 15.0|58 33 6v S+1 &Q 1460 720 00| 5 13 4v S+1 &4 450 72.0 0.0
2 16 44 S= vA 420 57.0 150| 5 13 6v S= &Q 1430 68.0 40|11 7 44 N= &3 420 64.0 8.0
8 10 44 N= *T 420 57.0 15.0|22 69 6v S= &Q 1430 68.0 40|14 4 4v S= &4 420 64.0 8.0
14 4 44 N= *4 420 57.0 15.0|64 27 6v S= v6 1430 68.0 40|22 69 4v S= &4 420 64.0 8.0
20 71 44 N= *T 420 57.0 15.0|61 30 54D O -4 vA 1100 64.0 80|35 56 4v S= &4 420 64.0 8.0
21 70 44 N= *2 420 57.0 150| 3 15 4v S+3 &Q 710 50.0 22.0|52 39 4v S= &4 420 64.0 8.0
26 65 44 N= *T 420 57.0 15.0|26 65 4v S+3 &0Q 710 50.0 22.0|62 29 4v S= &K 420 64.0 8.0
28 63 44 N= +6 420 57.0 15.0|28 63 5v S+2 *Q 710 50.0 22.0|72 19 4v S= &4 420 64.0 8.0
31 60 44 N= *T 420 57.0 15.0|31 60 4v S+3 *T 710 50.0 22.0| 1 17 34 N+2 &3 200 49.0 23.0
35 56 44 N= *2 420 57.0 15.0 |42 49 4v S+3 &0Q 710 50.0 22.0| 2 16 2v S+3 &3 200 49.0 23.0
47 44 44 N= *T 420 57.0 15.0|47 44 4v S+3 *T 710 50.0 22.0|28 63 24 N +3 49 200 49.0 23.0
48 43 44 N= *4 420 57.0 15.0|52 39 4v S+3 &Q 710 50.0 22.0|36 55 24 N +3 +9 200 49.0 23.0
50 41 44 N= *T 420 57.0 15.0|54 37 4v N+3 &A 710 50.0 22.0|50 41 3v N+2 v2 200 49.0 23.0
58 33 44 N= *T 420 57.0 15.0|57 34 4v S+3 *Q 710 50.0 22.0|53 38 3v N+2 v2 200 49.0 23.0
66 25 44 N= +9 420 57.0 15.0|59 32 4v S+3 &Q 710 50.0 22.0|54 37 3v N+2 &6 200 49.0 23.0
72 19 44 N= *T 420 57.0 15.0|67 24 4v N+3 &A 710 50.0 22.0|64 27 2v S+3 *2 200 49.0 23.0
315 5¢DV-1 &K 200 36.0 36.0|72 19 4v S+3 *Q 710 50.0 22.0| 3 15 2v N+2 49 170 25.0 47.0
53 38 5¢DV-1 s A 200 36.0 36.0|74 9 4v S+3 &Q 710 50.0 22.0| 8 10 3v S+1 &4 170 25.0 47.0
54 37 5¢DV-1 aA 200 36.0 36.0| 1 17 4v S+2 *T 680 24.0 48.0|12 6 2v S+2 &4 170 25.0 47.0
64 27 5¢DV-1 s A 200 36.0 36.0| 2 16 4v S+2 *Q 680 24.0 48.0|18 73 3v N+1 +9 170 25.0 47.0
67 24 5¢DO-1 s A 200 36.0 36.0| 8 10 4v S+2 &Q 680 24.0 48.0|23 68 2v S+2 &4 170 25.0 47.0
5 13 34 N+1 *T 170 28.0 440|12 6 5v S+1 +9 680 24.0 48.0|26 65 24 N +2 +9 170 25.0 47.0
36 55 24 N +2 *T 170 28.0 44014 4 4v S+2 *T 680 24.0 48.0|31 60 3v S+1 &4 170 25.0 47.0
52 39 34 N+1 *2 170 28.0 440|120 71 4v S+2 *T 680 24.0 48.0|46 45 24 N+2 +9 170 25.0 47.0
62 29 24 N+1 +6 140 24.0 48.0|23 68 4y S +2 &0Q 680 24.0 48.0 |47 44 2v N+2 +9 170 25.0 47.0
12 6 44 N-1 *T -50 19.0 53.0|36 55 4v S+2 *T 680 24.0 48.0|57 34 2v S+2 &4 170 25.0 47.0
46 45 44 N-1 *T -50 19.0 53.0|48 43 4v S+2 &J 680 24.0 48.0|58 33 3v S+1 &4 170 25.0 47.0
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51 40 4e N-1 *T -50 19.0 53.0|50 41 4v N+2 &Q 680 24.0 48.0|59 32 3v N+1 &6 170 25.0 47.0
74 9 44 N-1 *T -50 19.0 53.0|53 38 4v N+2 &0 680 24.0 48.0|61 30 3v S+1 *2 170 25.0 47.0
18 73 54DN-1 *4 -100 11.0 61.0(62 29 4v S+2 &Q 680 24.0 48.0|66 25 3v S+1 &5 170 25.0 47.0
23 68 44 N-2 *T -100 11.0 61.0(66 25 5v S+1 &Q 680 24.0 48.0|67 24 3v S+1 &4 170 25.0 47.0
57 34 6% N-2 *T -100 11.0 61.0(35 56 3v S+4 &0Q 260 10.0 62.0(74 9 24 N+2 &6 170 25.0 47.0
59 32 6& S-2 ¢A -100 11.0 61.0(21 70 3v N+3 &A 230 80 64.0(48 43 2v S+1 &4 140 7.0 65.0
11 7 54 N-3 +6 -150 6.0 66.0|11 7 34 N+2 &K 200 50 67.0(51 40 3v S= &4 140 7.0 65.0
22 69 5¢DV= s A -750 2.0 70.0(46 45 34 0O -2 vA 200 50 67.0(42 49 INS+1 &5 120 4.0 68.0
42 49 5¢DV = aA -750 2.0 70.0(18 73 34 N+1 &A 170 1.0 71.0|20 71 INS= &4 90 2.0 70.0
61 30 5¢DV= s A -750 2.0 70.0(51 40 3¢ N+3 &A 170 1.0 71.0(21 70 4v S-1 &5 -50 0.0 72.0
28 « EDKn103 29 « K76 30 462
Vast v Kn5 Nord v K1097642 Ost v 875
NS ¢ 62 Alla 52 Ingen + E863
&EK85 &K #10852
a- 4 K974 498 4 ED1052 4 KD107 #E543
vEKD876 v 104 v D85 v- v D96 v EKn32
¢ ED973 ¢ K85 + 108 ¢ EKn76 ¢ KDKNn74 ¢2
104 D962 #EDKN765 #9832 &3 K964
8652 & Kn43 & Kn98
v 932 v EKn3 v K104
¢ Kn104 ¢ KD943 41095
&Kn73 104 &EDKN7
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 18 3¢ V+2 &A -150 70.0 2.0(54 39 2¢vDN= &3 670 720 0.0(62 31 3NO-3 *Q 150 720 0.0
49 44 3¢ V +2 &A -150 700 20|22 71 4vy N= s A 620 69.0 3.0|27 66 4v O-2 a5 100 69.0 3.0
52 41 3¢ V+2 &A -150 70.0 2.0|37 56 4y N= s A 620 69.0 3.0({37 56 3NV-2 &T 100 69.0 3.0
63 30 3¢ V+3 &A -170 66.0 6.0|59 34 5¢ O-5 vA 500 66.0 6.0| 3 17 3NO-1 49 50 58.0 14.0
29 64 3v V+2 SA -200 64.0 8.0|24 69 4¢ O-3 vA 300 62.0 10.0(29 64 44 V-1 v5 50 58.0 14.0
62 31 4v V= &A -420 61.0 11.0(29 64 4e O-3 vA 300 62.0 10.0 47 46 44 V-1 v8 50 58.0 14.0
67 26 4v V= &A -420 61.0 11.0|65 28 3NV -3 v9 300 62.0 10.0 (48 45 44 V-1 &5 50 58.0 14.0
3 17 4v V+1 &K -450 42.0 30.0| 3 17 34 O-2 vA 200 57.0 15.0 (55 38 44 V-1 &5 50 58.0 14.0
4 16 4y V+1 &K -450 42.0 30.0(74 10 44DO-1 +K 200 57.0 15.0|60 33 3NO-1 v4 50 58.0 14.0
9 11 4v V+1 &A -450 42.0 30.0(67 26 2v N= &9 110 540 18.0|65 28 44 V-1 a2 50 58.0 14.0
12 8 4v V+1 &A -450 42.0 30.0 (47 46 5& V-1 +5 100 52.0 20.0|73 20 54 V-1 &A 50 58.0 14.0
22 71 5v V= &A -450 42.0 30.0| 4 16 4v N-1 s A -100 41.0 31.0(74 10 4e V-1 &5 50 58.0 14.0
23 70 4v V+1 &A -450 42.0 30.0| 6 14 3v N-1 &9 -100 41.0 31.0(43 50 2#D S -2 &3 -300 48.0 24.0
24 69 4v V +1 &A -450 42.0 30.0(15 5 3v N-1 &2 -100 410 31.0(24 69 3NV= v8 -400 43.0 29.0
32 61 4v V+1 &A -450 42.0 30.0(19 1 3v N-1 &3 -100 41.0 31.0|36 57 3NV= 46 -400 43.0 29.0
36 57 4v V+1 &A -450 42.0 30.0(23 70 3v N-1 &3 -100 41.0 31.0|49 44 3NO= 48 -400 43.0 29.0
47 46 4v V +1 &A -450 42.0 30.0(32 61 3v N-1 &9 -100 41.0 31.0(53 40 3NO= LX:] -400 43.0 29.0
51 42 4v V +1 &K -450 42.0 30.0(48 45 3v S-1 49 -100 410 31.0( 9 11 44 V= &5 -420 29.0 43.0
53 40 5v V= &A -450 42.0 30.0(52 41 3v N-1 &3 -100 41.0 31.0|12 8 4a V= ¢ A -420 29.0 43.0
54 39 4v V +1 &A -450 42.0 30.0(53 40 3v N-1 &3 -100 41.0 31.0(21 72 44 O= ¢A -420 29.0 43.0
55 38 4v V +1 SA -450 42.0 30.0|73 20 4v N-1 s A -100 41.0 31.0|22 71 44 V= v5 -420 29.0 43.0
68 25 5v V= &K -450 42.0 30.0( 9 11 34 O= vA -140 30.0 42.0(23 70 44 O= &A -420 29.0 43.0
73 20 4v O +1 a2 -450 42.0 30.0 (49 44 44V +1 +5 -150 26.0 46.0 (52 41 44 V= &5 -420 29.0 43.0
74 10 4v V +1 &A -450 42.0 30.0 (51 42 4%V +1 vT -150 26.0 46.0 (54 39 4 V= &5 -420 29.0 43.0
6 14 4v V+2 &A -480 13.0 59.0 (62 31 4%V +1 +8 -150 26.0 46.0 |58 35 44 V= *A -420 29.0 43.0
13 7 4v V+2 &A -480 13.0 59.0 (27 66 4v N-2 &3 -200 19.0 53.0(63 30 44 O= LY:] -420 29.0 43.0
15 5 4v O +2 s A -480 13.0 59.0(36 57 4v N-2 &9 -200 19.0 53.0 |67 26 44 V= 46 -420 29.0 43.0
19 1 4v O+2 s A -480 13.0 59.0 (43 50 4v N-2 &9 -200 19.0 53.0|59 34 3NO+1 aJ -430 18.0 54.0
21 72 4y V +2 &A -480 13.0 59.0(60 33 4v N-2 ¢A 200 19.0 53.0( 2 18 44 O +1 a2 -450 10.0 62.0
27 66 4v V +2 s A -480 13.0 59.0|55 38 5vDS-2 49 -500 14.0 58.0( 6 14 44 V+1 46 -450 10.0 62.0
37 56 4v V +2 &A -480 13.0 59.0(13 7 5&V= +5 -600 12.0 60.0 (13 7 44 V+1 ¢ A -450 10.0 62.0
43 50 5v V+1 &K -480 13.0 59.0|12 8 5&V +1 v2 -620 9.0 63.0(15 5 44 V+1 a3 -450 10.0 62.0
48 45 4v V +2 s A -480 13.0 59.0 (63 30 44 O= vA -620 9.0 63.0(19 1 44 V+1 v5 -450 10.0 62.0
58 35 4v V+2 &A -480 13.0 59.0|21 72 5#V +2 +5 -640 6.0 66.0(32 61 44 V+1 46 -450 10.0 62.0
60 33 4v O +2 &K -480 13.0 59.0|58 35 44 O +1 a3 -650 3.0 69.0(51 42 44 O +1 &J -450 10.0 62.0
65 28 5v V+1 &A -480 13.0 59.0 (68 25 44 O +1 +K -650 3.0 69.0| 4 16 3NV +2 +3 -460 1.0 71.0
59 34 44DN-4 vT -1100 0.0 72.0| 2 18 5vDN-3 &3 -800 0.0 72.0({68 25 3NV +2 *2 -460 1.0 71.0
31 4109 32 «87 33 4 ED5S
Syd vKn105 Vast v 1095 Nord v DKn86
NS + KD7654 oV ¢ Kn74 Ingen + KD82
&E8 &E9543 &KD
& KKn2 4 ED87643 4 EKn105 & KD2 4 KKn10962 473
vED87432 v96 v KKn3 v D864 v2 v 943
¢E2 +3 ¢+ E532 +K ¢E ¢ 974
&4 #1073 &K6 &D10872 #109873 &#EKN642
a5 #9643 484
vK vE72 v EK1075
+ Kn1098 + D10986 ¢+ Kn10653
&#KDKn9652 &Kn &5
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
44 51 5vDV-1 &A 100 720 0.0(49 46 44 V-1 *4 100 720 00|61 34 5vDN= a7 650 720 0.0
5 17 6v V-1 +K 50 70.0 20|44 51 34 V= v5 -140 70.0 2.0(50 45 4v N+2 &T 480 69.0 3.0
28 67 5¢DN-1 v6 -200 67.0 5.0 7 15 3NV= *7 -600 67.0 5.0(55 40 5v N+1 a7 480 69.0 3.0
55 40 3v V+2 &A -200 67.0 5.0(52 43 3NV= *4 -600 67.0 5.0(60 35 3NN +2 a7 460 66.0 6.0
121 5vV= &A -450 50.0 22.0(16 6 44 V= vT -620 62.0 10.0( 1 21 4v N+1 a7 450 49.0 23.0
3 19 4v V+1 &A -450 50.0 22.0(38 57 44 V= *4 -620 62.0 10.0| 5 17 5v N= a3 450 49.0 23.0
10 12 4v V+1 &A -450 50.0 22.0(53 42 44 V= vT -620 62.0 10.0(14 8 4v S+1 &T 450 49.0 23.0
14 8 5y V= &A -450 50.0 22.0(14 8 3NV +1 &2 -630 56.0 16.0(16 6 4v S+1 &9 450 49.0 23.0
23 72 4v V +1 &A -450 50.0 22.0(55 40 3NV +1 &3 -630 56.0 16.0(20 2 5v S= &T 450 49.0 23.0
24 71 5v V= &A -450 50.0 22.0(74 11 3NV +1 *J -630 56.0 16.0(22 73 5v S= T 450 49.0 23.0
25 70 4v O+1 &A -450 50.0 22.0| 1 21 3NV +2 &4 -660 29.0 43.0(23 72 4v N+1 a7 450 49.0 23.0
33 62 4v V+1 &A -450 50.0 22.0( 3 19 3NV +2 &4 -660 29.0 43.0(25 70 4v N +1 a7 450 49.0 23.0
48 47 44 O+1 &K -450 50.0 22.0| 4 18 3NV +2 &4 -660 29.0 43.0(33 62 4v S+1 &9 450 49.0 23.0
50 45 4v O+1 &A -450 50.0 22.0| 5 17 3NV +2 &4 -660 29.0 43.0(38 57 5v S= &T 450 49.0 23.0
53 42 4v V+1 T -450 50.0 22.0|10 12 3NV +2 &2 -660 29.0 43.0|49 46 4v N +1 a4 450 49.0 23.0
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54 41 5y V= *A -450 50.0 22013 9 3NV +2 *4 -660 29.0 43.0|52 43 4v N+1 a7 450 49.0 23.0
56 39 5v V= *A -450 50.0 220|120 2 3NV +2 3 -660 29.0 43.0|54 41 4v N+1 a7 450 49.0 23.0
68 27 4v V+1 *A -450 50.0 22.0|22 73 3NV +2 vT -660 29.0 43.0|56 39 4v S+1 8 450 49.0 23.0
74 11 4y V+1 *A -450 50.0 22.0|23 72 3NV +2 25 -660 29.0 43.0|68 27 5v N= a7 450 49.0 23.0
7 15 54 O+1 *K -480 25.0 47.0|25 70 3NO +2 *4 -660 29.0 43.0|69 26 4v S+1 ¢A 450 49.0 23.0
22 73 44 O +2 *K -480 25.0 47.0|28 67 3NO +2 *4 -660 29.0 43.0| 4 18 4v S= ¢A 420 29.0 43.0
30 65 54 O+1 +K -480 25.0 47.0|30 65 3NV +2 25 -660 29.0 43.0|10 12 4v S= ¢A 420 29.0 43.0
38 57 4 O+2 *K -480 25.0 47.0|33 62 3NV +2 3 -660 29.0 43.0|53 42 4v S= ¢A 420 29.0 43.0
49 46 4e O +2 +K -480 25.0 47.0|37 58 3NV +2 3 -660 29.0 43.0|63 32 4v S= ¢A 420 29.0 43.0
52 43 44 O +2 +K -480 25.0 47.0|48 47 3NV +2 *4 -660 29.0 43.0|59 36 5¢ N= «A 400 24.0 48.0
60 35 44 O+2 *K -480 25.0 47.0|50 45 3N O +2 3 -660 29.0 43.0|48 47 54DV -2 vQ 300 22.0 50.0
63 32 44 O +2 *K -480 25.0 47.0|54 41 3NV +2 *4 -660 29.0 43.0|13 9 54DV-1 vQ 100 17.0 55.0
66 29 44 O +2 +K -480 25.0 47.0|56 39 3NV +2 3 -660 29.0 43.0|44 51 34DV-1 vQ 100 17.0 55.0
69 26 44 O+2 *K -480 25.0 47.0|59 36 3NO +2 *2 -660 29.0 43.0|64 31 4a4DV-1 vQ 100 17.0 55.0
13 9 5¢DN-2 v6 -500 14.0 58.0|60 35 3N O +2 3 -660 29.0 43.0|66 29 44DV-1 vQ 100 17.0 55.0
20 2 54 O+2 +J -510 11.0 61.0|63 32 3NV +2 vT -660 29.0 43.0| 3 19 5vS-1 *A -50 7.0 65.0
37 58 54 O+2 ¢J -510 11.0 61.0|64 31 3NV +2 vT -660 29.0 43.0| 7 15 6v S-1 *8 -50 7.0 65.0
64 31 54DO= vK -650 8.0 64.0|68 27 3NV +2 *4 -660 29.0 43.0|24 71 5v S-1 *A -50 7.0 65.0
16 6 54DO+1 #K -750 5.0 67.0|69 26 3NV +2 *4 -660 29.0 43.0|30 65 5v S-1 ¢A -50 7.0 65.0
59 36 54DO+1 #K -750 5.0 67.0|24 71 3NV +3 8 -690 2.0 70.0|37 58 6v S-1 &T -50 7.0 65.0
61 34 64 O= &K -980 2.0 70.0|61 34 3NV +3 3 -690 2.0 70.0|74 11 6NN-1 a7 -50 7.0 650
4 18 64 O+1 5 -1010 0.0 72.0(66 29 3NV +3 *4 -690 2.0 70.0|28 67 34DV= vQ -530 0.0 72.0
34 « KD64 35 » EKn765 36 « E10862
Ost vK4 Syd vE93 Vast v7
NS ¢ KKng4 ov ¢ 9753 Alla ¢ 9853
#653 *Kn *K86
4 E82 4753 4D92 #4104 4KD97 453
vED2 v Kn8 vD84 v752 vK10953 vED642
¢1075  #D9632 ¢D62 ¢ EKn84 *K ¢ Kn72
#KKn98 £D104 #9874 #KD63 #ED10  #953
«Kn109 » K83 «Kn4
v 1097653 v KKn106 vKn8
¢E ¢ K10 ¢ ED1064
*ET72 #E1052 #Kn742
Par  Kontr ut Res Poang Par  Kontr ut Res Poéng Par  Kontr ut Res Poéng
49 48 2v S+3 +5 200 720 00| 2 22 44 N+2 K 480 71.0 10|38 59 5vDV-2 +9 500 72.0 0.0
2 22 2vS+2 +5 170 62.0 10.0|38 59 44 S+2 *9 480 71.0 10|23 1 5vV-1 *9 100 69.0 3.0
14 10 2v S+2 ¢+5 170 62.0 10.0|15 9 44 N+1 3 450 65.0 7.0|74 12 4v V-1 ¢9 100 69.0 3.0
23 1 2vS+2 «A 170 62.0 10.0|29 68 44 S+1 *9 450 65.0 7.0|14 10 34 N-1 43 -100 66.0 6.0
29 68 34 N+1 a4 170 62.0 10.0 |51 46 4« N+1 +8 450 65.0 7.0|26 71 3v V+1 v3 -170  62.0 10.0
31 66 2v S+2 +3 170 62.0 10.0|62 35 44 N+1 &K 450 65.0 7.0|29 68 3v V+1 ¢5 -170  62.0 10.0
51 46 24 N+2 vJ 170 62.0 10.0|49 48 3NS+1 *9 430 60.0 12.0|64 33 2v V+2 v7 -170  62.0 10.0
54 43 2v S+2 ¢5 170 62.0 10.0| 4 20 44 N= +8 420 51.0 21.0|34 63 2v V+3 +5 -200 58.0 14.0
55 42 2v S+2 o7 170 62.0 10.0|14 10 44 N= K 420 51.0 21.0| 4 20 4v V= *6 -620 37.0 35.0
74 12 2v S+2 +6 170 62.0 10.0|21 3 44 S= *8 420 51.0 21.0| 5 19 4v V= ¢9 -620 37.0 35.0
34 63 3¢ O-3 v7 150 52.0 20.0|24 73 44 S= *7 420 51.0 21.0| 6 18 4v V= *6 -620 37.0 35.0
6 18 24 N+1 2 140 41.0 310|134 63 44 N= K 420 51.0 21.0|11 13 4v V= ¢9 -620 37.0 35.0
15 9 2v N+1 ¢3 140 41.0 31.0|57 40 44 N= a4 420 51.0 21.0|17 7 4y V= +8 -620 37.0 35.0
26 71 2v N+1 a4 140 41.0 31.0|60 37 44 N= a4 420 51.0 21.0|21 3 4v V= *6 -620 37.0 35.0
50 47 3v N= ¢+5 140 41.0 31.0|69 28 44 S= &9 420 51.0 21.0|25 72 4v O = +8 -620 37.0 35.0
53 44 2v S+1 +5 140 41.0 31.0| 5 19 24 N+4 K 230 40.0 32.0|31 66 4v V= v7 -620 37.0 35.0
61 36 1lv S+2 +5 140 41.0 310 6 18 24 S+4 &7 230 40.0 32.0|39 58 4v V= *6 -620 37.0 35.0
62 35 2v S+1 ¢+5 140 41.0 31.0(54 43 24 S+4 *7 230 40.0 32.0|45 52 4v V= *6 -620 37.0 35.0
67 30 3v S= +5 140 41.0 310(23 1 INS+4 v4 210 35.0 37.0|49 48 4v O= ¢ A -620 37.0 35.0
69 28 2v N+1 2 140 41.0 31055 42 INS+4 &4 210 35.0 37.0|50 47 4v O= v7 -620 37.0 35.0
70 27 1v S+2 +9 140 41.0 31.0(17 7 24 N+3 v2 200 28.0 44.0|54 43 4v V= ¢5 -620 37.0 35.0
39 58 24 N= *4 110 27.0 45.0|25 72 24 N+3 «T 200 28.0 44.0|55 42 4v V= ¢5 -620 37.0 35.0
56 41 2v S= *T 110 27.0 45.0|50 47 24 N+3 v7 200 28.0 44.0|60 37 4v V= ¢+5 -620 37.0 35.0
57 40 24 N= +6 110 27.0 45.0|65 32 2v N+3 «K 200 28.0 44.0|62 35 4v V= ¢9 -620 37.0 35.0
64 33 2v S= *8 110 27.0 45.0|70 27 1a S+4 a2 200 28.0 44.0|65 32 4v V= ¢9 -620 37.0 35.0
38 59 INN= *2 90 22.0 50.0|53 44 2N S +2 &7 180 21.0 51.0|67 30 4v V= ¢+5 -620 37.0 35.0
519 2NV-1 vK 50 16.0 56.0 (74 12 INS+3 *9 180 21.0 51.0|69 28 4v V= ¢5 -620 37.0 35.0
11 13 3¢ O-1 vT 50 16.0 56.0|31 66 24 N +2 aT 170 17.0 55.0|70 27 4v V= ¢5 -620 37.0 35.0
24 73 2NV-1 vK 50 16.0 56.0 (61 36 2v S+2 &7 170 170 55.0 2 22 4v V+1 +9 -650 9.0 63.0
60 37 2NV-1 vK 50 16.0 56.0 (56 41 INS+2 ¢Q 150 13.0 59.0| 8 16 4v V+1 s A -650 9.0 63.0
65 32 INV-1 46 50 16.0 56.0 (64 33 2N N +1 ¢4 150 13.0 59.0|15 9 4v O+1 +3 -650 9.0 63.0
25 72 INO= vK 90 9.0 63.0|11 13 24 N+1 oT 140 9.0 63.0|51 46 4v V+1 *6 -650 9.0 63.0
45 52 INV= oK 90 9.0 63.0|67 30 2v S+1 2 140 9.0 63.0|53 44 4v V+1 & A -650 9.0 63.0
8 16 3v S-1 +5 -100 5.0 67.0| 8 16 INS+1 *9 120 6.0 66.0(56 41 4v V+1 *6 -650 9.0 63.0
21 3 34 N-1 vJ -100 5.0 67.0|26 71 24 N-1 v2 -50 2.0 70.0(57 40 4v V+1 +9 -650 9.0 63.0
17 7 2v V+1 o7 -140 2.0 70.0|39 58 3NS-1 *9 -50 2.0 70.0(61 36 4v V+1 s A -650 9.0 63.0
4 20 3vS-2 *9 200 0.0 72.0|45 52 44 S-1 *4 -50 2.0 70.0|24 73 34DN-3 vA -800 0.0 72.0
37 & 854 38 «D74 39 & K10975
Nord v ED1054 Ost v 9854 Syd v3
NS ¢52 ov ¢ Kn743 Alla ¢ 1094
«D64 #95 #EK95
« EKKn92 41073 « 82 & K1096 4 EDKn 4632
v76 v Kn9 v 102 v K6 vKn v EK954
+D1084 ¢ EK9763 +D8 + K965 ¢ EKKn52 ¢ 763
*92 *Kn7 #ED86432 #Knl07 #D632 #Knl10
« D6 4 EKn53 484
v K832 v EDKn73 vD108762
¢+ Kn ¢+ E102 +D8
#EK10853 *K *874
Par  Kontr ut Res Poéang Par  Kontr ut Res Poang Par  Kontr ut Res Poéang
61 38 54D S= A 750 72.0 0.0]35 64 4v S= v2 420 71.0 10|35 64 3NV-2 a5 200 71.0 1.0
25 1 4v N+1 a4 650 69.0 3.0|74 13 4vS= ¢Q 420 71.0 10|46 53 3NV-2 «A 200 71.0 1.0
54 45 4v S+1 K 650 69.0 3.0|27 72 3NDO-1 vQ 200 67.0 5.0|54 45 3NV-1 «A 100 67.0 5.0
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3 23 4v N= ¢A 620 60.0 12.0|68 31 3v S+2 LY:] 200 67.0 5.0|57 42 3NO-1 LY:] 100 67.0 5.0
24 2 4v S= s A 620 60.0 12.0| 6 20 2v N+2 LN 170 63.0 90|12 14 3¢ V= &A -110 63.0 9.0
27 72 4v N= *A 620 60.0 12.0|52 47 3v S+1 +Q 170 63.0 9.0(18 8 3¢ V= v3 -110 63.0 9.0
30 69 54 S+1 s A 620 60.0 120| 5 21 3v S= LY:] 140 50.0 22.0|15 11 2¢ O+2 v3 -130 58.0 14.0
56 43 4v N= +K 620 60.0 12.0|15 11 3v N= &A 140 50.0 22.0|30 69 3¢ V+1 v3 -130 58.0 14.0
65 34 4v N= *A 620 60.0 12025 1 3vy N= 48 140 50.0 22.0|66 33 3¢ V+1 v5 -130 58.0 14.0
70 29 4v N= ¢A 620 60.0 12.0|32 67 3v S= +Q 140 50.0 22.0|27 72 2NV +1 &A -150 53.0 19.0
521 5¢DO-2 &A 300 50.0 22.0|39 60 3v N= &7 140 50.0 22.0|62 37 2NV +1 &A -150 53.0 19.0
55 44 54DV -2 &4 300 50.0 22.0|50 49 3v N= +Q 140 50.0 22.0| 6 20 2NV +2 49 -180 48.0 24.0
62 37 5¢DO-2 &A 300 50.0 22.0|54 45 2v S+1 LY:] 140 50.0 22.0|16 10 2NV +2 &5 -180 48.0 24.0
22 4 3v N+1 +K 170 450 27.0(57 42 3v N= &T 140 50.0 22.0|39 60 1INV +3 a5 -180 48.0 24.0
71 28 3v N+1 *A 170 450 27.0(58 41 2v S+1 +Q 140 50.0 22.0| 3 23 3NV= &K -600 34.0 38.0
51 48 3# S+1 s A 130 42.0 30.0(61 38 3v S= LY:] 140 50.0 220| 7 19 3NV= &A -600 34.0 38.0
6 20 5¢ O-2 &A 100 35.0 37.0|62 37 3v S= &A 140 50.0 22.0| 9 17 3NV= &A -600 34.0 38.0
18 8 5¢ O-2 v3 100 35,0 37.0(22 4 1v S+1 rY:] 110 38.0 34022 4 3NV= &A -600 34.0 38.0
32 67 5¢ O-2 &A 100 35.0 37.0| 9 17 3NO-1 vQ 100 33.0 39.0(24 2 3NV= &A -600 34.0 38.0
58 41 44DV -1 &4 100 350 37.0|18 8 4#V-1 v5 100 33.0 39.0|25 1 3NO= &K -600 34.0 38.0
66 33 5¢ O-2 &A 100 35.0 37.0|40 59 3NO-1 vJ 100 33.0 39.0(50 49 3NO= v3 -600 34.0 38.0
74 13 44DV-1 &Q 100 35.0 37.0|66 33 4a V-1 v5 100 33.0 39.0|56 43 3NO= &3 -600 34.0 38.0
9 17 44 V-1 &4 50 240 48.0| 3 23 4v S-1 &A -50 20.0 52.0(61 38 3NV= &A -600 34.0 38.0
15 11 44 O-1 &4 50 240 480 7 19 4v S-1 LX:] -50 20.0 52.0(65 34 3NV= &A -600 34.0 38.0
35 64 4¢ O-1 &A 50 24.0 48.0|16 10 3v S-1 &A -50 20.0 52.0(68 31 3NV= a7 -600 34.0 38.0
39 60 44 V-1 &3 50 24.0 48.0|26 73 4v S-1 +Q -50 20.0 52.0( 5 21 3NV +1 &3 -630 12.0 60.0
68 31 4¢ O-1 &A 50 240 48.0|46 53 4v S-1 +Q -50 20.0 52.0(26 73 3NV +1 &A -630 12.0 60.0
52 47 5v N-1 ¢A -100 18.0 54.0(55 44 4v S-1 &A -50 20.0 52.0(32 67 3NV +1 &A -630 12.0 60.0
26 73 3¢ O= &A -110 15.0 57.0(63 36 4v S-1 &A -50 20.0 52.0(40 59 3NV +1 &A -630 12.0 60.0
46 53 3¢ O= &A -110 15.0 57.0(70 29 3v N-1 &5 -50 20.0 52.0(51 48 3NV +1 &K -630 12.0 60.0
50 49 34 O= &4 -140 12.0 60.0(71 28 4v S-1 +8 -50 20.0 52.0(52 47 3NV +1 &A -630 12.0 60.0
57 42 3¢ O+2 &A -150 10.0 62.0(30 69 1s V= &9 -80 10.0 62.0(55 44 3NV +1 49 -630 12.0 60.0
7 19 54DS-1 &K -200 6.0 66.0|12 14 4v S-2 48 -100 50 67.0(58 41 3NV +1 &A -630 12.0 60.0
40 59 34 V+2 &5 -200 6.0 66.0(24 2 4v S-2 &A -100 50 67.0({70 29 3NV +1 a5 -630 12.0 60.0
63 36 24 V+3 &4 -200 6.0 66.0 (56 43 4v S-2 &A -100 50 67.0(71 28 3NV +1 v3 -630 12.0 60.0
12 14 44 V+1 +5 -450 1.0 71.0|65 34 4v S-2 &A -100 50 67.0(74 13 3NV +1 &A -630 12.0 60.0
16 10 44 V+1 &4 -450 1.0 71.0|51 48 24 O +2 vlJ -130 0.0 72.0(63 36 3NV +2 &5 -660 0.0 72.0
40 «D1043 41 46 42 & Knl0
Vast vD742 Nord v EK10652 Ost v 852
Ingen + K (0)Y) + KKn8 Alla + KD3
&#EKn108 &K42 #108654
« K96 & E875 4 EKn3 &4 K87542 4E83 4976
vKKn98 vE1063 v9743 v- v 964 v E1073
¢+ D54 + Kn76 ¢975 ¢ ED3 ¢ 974 + EKn1052
D94 &53 &#E98 &#Kn765 &#KD93 &E
& Kn2 « D109 & KD542
v5 v DKn8 v KDKn
+ E109832 ¢ 10642 + 86
&K762 D103 &Kn72
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
28 73 34D S= v9 470 720 0.0(66 35 4v N= &6 420 720 00|10 18 INV-1 a] 100 69.0 3.0
55 46 3v O-3 & 150 68.9 31|51 50 44 O-2 vQ 200 700 20|17 11 INV- T 100 69.0 3.0
72 29 3v V-3 +K 150 689 31| 6 22 1v N+2 LY! 140 68.0 40|63 38 INV-1 &) 100 69.0 3.0
74 14 24 S+2 46 130 658 6.2 4 24 44 V-1 vQ 100 63.0 9.0|67 34 INV-1 a] 100 69.0 3.0
56 45 2NN = a5 120 63.8 83(16 12 44 O-1 vQ 100 63.0 9.0|16 12 INV= & -90 56.0 16.0
10 18 3¢ S= 46 110 524 196(25 3 34 O-1 vQ 100 63.0 90|19 9 INV= &) -90 56.0 16.0
13 15 3¢ S= &4 110 524 19.6|36 65 44 O-1 vQ 100 63.0 90|27 1 INV= a] -90 56.0 16.0
16 12 2¢ S+1 46 110 524 196| 7 21 4v N-1 a7 -50 56.0 16.0(36 65 INV= & -90 56.0 16.0
23 5 2¢ N+1 &5 110 52.4 19.6 |53 48 4v N-1 a3 -50 56.0 16.0(41 60 INV= &) -90 56.0 16.0
27 1 2¢ S+1 46 110 524 19.6 |63 38 4v N-1 a7 -50 56.0 16.0(58 43 INV= a] -90 56.0 16.0
59 42 2¢ S+1 v8 110 52.4 19.6|10 18 5v N-2 LY -100 48.0 24.0(62 39 INV= & -90 56.0 16.0
62 39 3¢ S= v9 110 52.4 19.6 |33 68 4v N-2 a5 -100 48.0 24.0(69 32 INV= &) -90 56.0 16.0
67 34 2 N+1 &5 110 524 19.6 |52 49 4vDN-1 &6 -100 48.0 24.0|74 14 INV = a] -90 56.0 16.0
69 32 2¢ S+1 46 110 52.4 19.6 |56 45 5v N-2 LY -100 48.0 24.0| 4 24 29 O+= &K -110 41.0 31.0
71 30 3¢ N= &5 110 524 19.6 (71 30 4vDN-1 &6 -100 48.0 24.0|23 5 2¢ O+1 vK -110 41.0 31.0
66 35 3v O-2 &K 100 41.1 30.9 |47 54 34 O= vQ -140 41.0 31.0|33 68 2¢ O +1 vK -110 41.0 31.0
6 22 2¢ S= vJ 90 33.9 38.1(55 46 34 O= vQ -140 41.0 31.0|52 49 3¢ O= vK -110 41.0 31.0
8 20 INS= 46 90 339 38.1(31 70 34 O+1 vQ -170 37.0 35.0|55 46 2¢ O +1 vK -110 41.0 31.0
19 9 INS= 46 90 339 38.1|58 43 34 O+1 vQ -170 37.0 35.0(64 37 3¢ O= vK -110 41.0 31.0
47 54 INN= v3 90 339 38117 11 3NS -4 s A -200 34.0 38.0(31 70 INV+1 s -120 33.0 39.0
58 43 INS= 49 90 339 38159 42 3NS-5 a2 -250 32.0 40.0|59 42 1INV +1 &4 -120 33.0 39.0
63 38 2¢ S= a7 90 339 38.1|40 61 4vDN-2 &6 -300 26.0 46.0( 6 22 3¢ O+1 +6 -130 23.0 49.0
41 60 2v V-1 +K 50 26.8 45.3|57 44 4vDN-2 a7 -300 26.0 46.0(25 3 2¢ O+2 +6 -130 23.0 49.0
4 24 Pass 21.6 504|162 39 5vDN-2 46 -300 26.0 46.0 (40 61 2¢ O +2 vK -130 23.0 49.0
33 68 Pass 21.6 50.4|67 34 4vDN-2 a4 -300 26.0 46.0|47 54 2¢ O +2 vK -130 23.0 49.0
36 65 Pass 21.6 50.4|69 32 4vDN-2 LY -300 26.0 46.0|53 48 3¢ O +1 vK -130 23.0 49.0
40 61 Pass 216 504| 8 20 5vDN-3 &5 -500 18.0 54.0|57 44 2¢ O +2 vK -130 23.0 49.0
26 2 3#S-1 +3 -50 144 57626 2 5¢vDN-3 a7 -500 18.0 54.0|66 35 2¢ O +2 vK -130 23.0 49.0
51 50 2¢ S-1 46 -50 144 57.6|72 29 5vDN-3 LY -500 18.0 54.0|71 30 3¢ O+1 vK -130 23.0 49.0
64 37 2NN-1 &5 -50 144 57.6|13 15 44DO= vQ -790 9.0 63.0(28 73 2v O +1 vK -140 14.0 58.0
25 3 INO= +8 -90 103 61.7|23 5 44DO= vQ -790 9.0 63.0(13 15 1INV +2 a] -150 9.0 63.0
17 11 INS-2 v8 -100 52 66.8|27 1 44DO= vQ -790 9.0 63.0(26 2 INV+2 & -150 9.0 63.0
31 70 3NS-2 a5 -100 5.2 66.8|28 73 44DO= vQ -790 9.0 63.0(51 50 1INV +2 &) -150 9.0 63.0
52 49 34 N-2 &5 -100 5.2 66.8|41 60 44DO = vQ -790 9.0 63.0(56 45 1INV +2 a] -150 9.0 63.0
53 48 3v N-2 +K -100 52 66.8(74 14 44DO= vQ -790 9.0 63.0( 7 21 INDV +2 T -580 4.0 68.0
57 44 2v N-3 &5 -150 0.0 72.0|64 37 5¢DN-4 LY! -800 20 70.0( 8 20 3NV = &5 -600 2.0 70.0
7 21 A+/A+ 432 43219 9 34DO+1 ¢Q -930 0.0 72.0(72 29 34DN-3 v4 -800 0.0 72.0
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